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UGC NET PAPER 2 DECEMBER 3, 2021 SHIFT 1 MALAYALAM QUESTION PAPER

Topic:- Malayalam_SET1_A
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[Question ID = 1879][Question Description = Q01_Malayalam_SHAAN_3DEC_51_5hift1]
1. 2 [Option (D = 7913]
2. 2 [Option |D = 79414)
3. 3 [Option |0 = 79415)
4. 4 [Dption |D = 7914]

Carrect Answer =
7 [Option (D = 7913]
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[Question ID = 1980][Question Description = Q02_Malayalam_SHAAN_3DEC_51_Shift1]
1. Z [Option 1D = 7917]

2.  [Option |D = F918]

3. 3 [Option I} = 7919]

4. 4 [Option I = 7920]

Carract Answer ;-

e 7 [Option D = 7917)
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[Question ID = 1981][Question Description = Q03_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option (D = 7921]
2. 2 [Option 1D = 7922)

3. 3 [Option ID = 7923]
4. 4 [Option 1D = 7924]

Correct Answer :-
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[Question ID = 1982][Question Description = Q04_Malayalam_SHAAN_3DEC_51_Shift1]
1. Z [Option D = 7925]

2. 2 [Option I} = 7926]

3. 3 [Option I = 79271

4, 4 [Option I} = 7928]

Carrect Answer ;-

s 7 [Option 1D = 7925]
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w 2 [Option 10 = 7921]
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[Question ID = 1983][Question Description = Q05_Malayalam_SHAAN_3DEC_51_5hift1]
1. 2 [Option (D = 7929]
2. 2 [Option |D = 7930)
3. 3 [Option |0 = 7931)
4, 4 [Dption |0 = 7932]

Carrect Answer -
e 7 [Option (D = 7929]
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[Questian ID = 1984][Question Description = Q06_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 7923]
2. I [Dption 1D = 7924]
3. 3 [Option 1D = 7925]
4. 4 [Option 1D = 7935]

Correct Answer ;-

» 2 [Option ID = 7933]
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[Question ID = 1%85][Question Description = Q07_Malayalam_SHAAN_3DEC_51_5hift1]
i. 2 [Option [0 = 7937
2. 2 [Option |D = 7938)
3. 3 [Option |D = 7939)
4, 4 [Dption |0 = 7940]

Carrect Answer -
® 2 [Option |0 = 7937]
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[Question ID = 1986][Question Description = Q08_Malayalam_SHAAN_3DEC_51_Shift1]
1. 2 [Option |D = 7941]

2. 2 [Option | = 7942]

3. 3 [Option Iy = 7943]

4, 4 [Option [ = 7944]

Carrect Answer ;-

s 7 [Option 1D = 7941]
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[Question ID = 1987][Question Description = Q09_Malayalam_SHAAN_3DEC_51_Shift1]
1. 2 [Option ID = 7945]
2. 2 [Option 1D = 7946]
3. 3 [Option ID = 7947]
4. 4 [Option 1D = 7948]
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Correct Answer ;-
s 2 [Option (I} s 79453]
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[Question ID = 1988][Question Description = Q10_Malayalam_SHAAN_3DEC_51_Shift1]
1. 2 [Option ID = 7949]
2. 2 [Option I = 7950]

3. 3 [Option 1D = 7951]
4. 4 [Option 1D = 7952]

Correct Answer -

e 2 [Option [0 = 7949]
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[Question ID = 1989][Question Description = Q11_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option I} = 7953]
2. I [Option D = 7954]
3. 3 [Option D = 7955]
4. 4 [Option 1D = 7955]

Correct Answer -
» 7 [Option |D = 7953]
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[Question ID = 1990][Question Description = Q12_Malayalam_SHAAN_3DEC_51_5Shift1]
? [Option [0 = 7957
2 [Option [0 = 7958]
3 [Option |0 = 7959]
. 4 [Option D = 7960]
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Correct Answer -
* 7 [Option (D = 7957]
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[Question ID = 1991][Question Description = Q13_Malayalam_SHAAN_3DEC_51_Shift1]
1. 2 [Option D = 7961]
2. 2 [Option I = 7962]
3. 3 [Option Iy = 7963]
4, 4 [Option [ = 7964]

Carrect Answer ;-
e I [Option D = 7961]
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[Question ID = 1992][Question Description = Q14_Malayalam_SHAAN_3DEC_51_5Shift1]
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1. 2 [Option ID = 7965]
2. 2 [Option 1D = 7966]
3. 3 [Option ID = 7967]
4. 4 [Option 1D = 7968]

Correct Answer -
& 2 [Option |0 = 7965]
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[Question D = 1993][Question Description = Q15_Malayalam_SHAAN_3DEC_S51_Shift1]
1. 2 [Option I} = 7969]
2. 2 [Option I = 7970]
3. 3 [Option I = 7971]
4, 4 [Dption 10 = 7972]

Carrect Answer 1=
* 7 [Option [0 = 7969]
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[Question ID = 1994][Question Description = Q16_Malayalam_SHAAN_3DEC_51_5Shift1]
2 [Option [0 = 7973
? [Option [0 = 7974]
3 [Option ID = 7975]
. 4 [Option D = 7976]
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Correct Answer :-
« 7 [Option [0 = 7973]
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[Question ID = 1995][Question Description = Q17_Malayalam_SHAAN_3DEC_51_Shift1]
1. Z [Option D = 7977]

2. 2 [Option [D = 7978]

3. 3 [Option I = 7979]

4. 4 [Option I} = 7980]

Carrect Answer -

e 7 [Option |0 = 7977)
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[Question ID = 1996][Question Description = Q18_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option ID = 7981]
2. 2 [Option |D = 7982)
3. 3 [Option ID = 7983]
4. 4 [Option ID = 7984]

Correct Answer -
« 2 [Option |0 = 7981]
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[Question D = 1997][Question Description = 919_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option I = 7983]
2. 2 [Option I = 7986]
3. 3 [Option 1D = 7987]
4, 4 [Dption 1D = 7983]

Correct Answer ;-
s 7 [Option I = 7985]
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[Question ID = 1998][Question Description = Q20_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option I = 7989]
2. 2 [Dption 1D = 7990]
3. 3 [Option 1D = 7991]
4. 4 [Option 1D = 7992]

Correct Answer ;-
s J [Option |D = 7989]
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[Question ID = 1%99][Question Description = Q21_Malayalam_SHAAN_3DEC_51_5hift1]
1. 2 [Option (D = 7993]
2. 2 [Option |D = 7994)
3. 3 [Option |D = 7995)
4, 4 [Dption |0 = 7996]

Carrect Answer -
e 7 [Option (D = 7993]
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[Question ID = 2000][Question Description = Q22_Malayalam_SHAAN_3DEC_51_5Shift1]
1. I [Option D = 7997]

2. 2 [Option 1D = 7998
3. 3 [Option |0 = 7999

4. 4 [Option 1D = 8000]

Correct Answer :-
& 2 [Option (I} = 7997]
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[Question ID = 2001][Question Description = Q23_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option (D = 8001]
2. 2 [Option (D = 8002]
3. 3 [Option |0 = 8003)
4. 4 [Option |0 = 8004)

Correct Answer :-
s 2 [Option (I s 3001]
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[Question ID = 2002][Question Description = Q24_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8005)
2. 2 [Option D = 8004]
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3. 3 [Option |0 = BOO7)
4. 4 [Option I = 3008]

Correct Answer :-
& 2 [Option [IF = 30053]
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[Question ID = 2003][Question Description = Q25_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option ID = 8O09]
2. 2 [Option |0 = 8010]
3. 3 [Option ID = 8011]
4. 4 [Option ID = 8012)

Correct Answer :-
& 2 [Option [IF s 3009]
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[Question ID = 2004][Question Description = Q26_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8013]
2. 2 [Option 1D = 8014]
3. 3 [Option 1D = 8015]
4. 4 [Option 1D = 8016]

Carrect Answer -
* 7 [Option (D = 8013]
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[Question ID = 2005][Question Description = Q27_Malayalam_SHAAN_3DEC_51_Shift1]
1. 2 [Option |0 = BO17)
2. 2 [Option ID = BO18]
3. 3 [Option ID = B019]
4. 4 [Option (I = 8020]
Carrect Answer -
* 7 [Option 10 = 8017]
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[Question ID = 2006][Question Description = Q28_Malayalam_SHAAN_3DEC_51_Shift1]
1. Z [Option 1D = 8021]

2. 2 [Option |D = B0Z2]

3. 3 [Option I = 8023]

4, 4 [Option I} = 8024]

Correct Answer -

e 7 [Option [0 = 8021)
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[Question ID = 2Q007][Question Description = Q29_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option D = 8027)
4. 4 [Option |D = 8028)
Correct Answer :-
8 7 [Option 1D = 3023]
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[Question ID = 2008][Question Description = Q30_Malayalam_SHAAN_3DEC_51_5hift1]
1. 2 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option D = 8031]
4. 4 [Option D = 8032]
S
w7 [Option (D = 8029]
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[Question ID = 2009][Question Description = Q31_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8033]
2. 2 [Option D = 8034]
3. 3 [Option Iy = 8033]
4, 4 [Option D = 3036]

Carrect Answer 1=
& 7 [Option |0 = B033)
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[Question D = 2010][Question Description = 932 Malayalam_ SHAAN_3DEC_S51_Shift1]
1. 2 [Option I = 8037]
2. 2 [Option I = 8038]
3. 2 [Option 1D = 8029]
4, 4 [Dption 10 = 8340]

Correct Answer -
¢ 7 [Option D = 3037]
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[Question ID = 201 1][Question Description = Q33_Malayalam_SHAAN_3DEC_51_5Shift1]

1. 2 [Option |0 = 8041]

2. 7 [Option 1D = 8042)

3. 3 [Option ID = 8043]

4. 4 [Option |D = 5044]
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s 2 [Opticn DY = 3041]
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[Question ID = 201 2][Question Description = Q34_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option D = 8045]
2. 2 [Option |D = 8046]
3. 3 [Option |D = 8047)
4. 4 [Option |D = 8048)

Carrect Answer -
w 2 [Option |0 = 8045]
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[Question ID = 2013][Question Description = Q35_Malayalam_SHAAN_3DEC_51_Shift1]
1. 2 [Option D = 8049)
2. 2 [Option 1D = 8050]
3. 3 [Option 1D = 8051]
4, 4 [Option 1D = 8052]

Carrect Answer -
® 2 [Option |0 = 8049]
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[Question ID = 2014][Question Description = Q36_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8053]
2. 2 [Option D = 8054]
3. 3 [Option Iy = 8053]
4, 4 [Option [} = 3056]

Carrect Answer -

s 7 [Option |0 = B053)
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[Questian ID = 2015][Question Description = Q37_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8057]
2. 1 [Dption 1D = B053]
3. 2 [Option 1D = 8059]
4. 4 [Option |D = 8060)

Correct Answaer ;-

» 2 [Option ID = 8057]
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[Question ID = 201 6][Question Description = Q38_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8081]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

Correct Answer :-
s 7 [Option [IF s 3061]

39) 4
GRTAMLNW HHOI0IMEs )TN @ AT BROES?

1 eflen gremisoememInd
@  aglodomils GramdRmo
3 OI2EISMA]

(4)  UETVIG W e,

[Question ID = 201 7][Question Description = Q39_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option ID = 8065]
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2. 7 [Option 1D = B0G6]
3. 3 [Option D = 8067]
4. 4 [Option D = 8068]

Carrect Answer -
* 7 [Option [0 = B8065]
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[Question ID = 201 8][Question Description = Q40_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = B08Y]
2. 2 [Option |D = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option |D = 8072)

Correct Answer :-
= 2 [Option [IF = 306%9]
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[Question ID = 2019][Question Description = Q41_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8073]
2. 2 [Option D = 8074]
3. 3 [Option Iy = 83075]
4, 4 [Option [ = 8076]

Carrect Answer -
s 7 [Option |0 = B073)
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[Question ID = 2020][Question Description = Q42_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option (D = 8077]
2. 2 [Option 10 = B073]

3. 3 [Option ID = 8079]
4. 4 [Option 1D = 8080)

Correct Answer -
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[Question ID = 2021][Question Description = Q43_Malayalam_SHAAN_3DEC_S1_Shift1]
2 [Option D = 8081]
2 [Option 1D = 3082]
3 [Option 1D = 3083]
4 [Option D = 3034]

Carrect Answer -
e I [Option D = B081]
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[Question ID = 2022][Question Description = Q44_Malayalam_SHAAN_3DEC_51_Shift1]
2 [Option D = BOBR]
2 [Option |0 = B0B&]
3 [Option D = 80871
4 [Option |0 = 3038]
Carrect Answer -

# I [Option (D = B083]
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[Question D = 2023][Question Description = Q45 Malayalam_SHAAN_3DEC_S1_Shift1]
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2 [Option 1D = 3089]
2 [Option (D = 8090]
3 [Option (D = 8091]
4 [Option 10 = 8092]

EaR T

Correct Answer }-
e 2 [Option ID = 8089]
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(D {2) Qo (b) Ho ABo B©]
@ (@ 9o b Qo © Do AIHDo BD]
(3) (0 9o (d) Ho AWo VD]
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[Question ID = 2024][Question Description = Q46_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8093]
2. I [Dption 1D = B094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096)

Correct Answer -
s 2 [Option [IF s 3093]
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[Questian ID = 2025][Question Description = Q47_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option I = 8097]
2. I [Dption 1D = 093]
3. 3 [Option 1D = 8099]
4. 4 [Option D = 100]

Correct Answer ;-
s} [Option |D = 8097]
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{a)
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(2) ®o (b} B (c) o Ad{he (a |
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[Question ID = 2026][Question Description = Q48_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option Iy = 8101]
2. 2 [Dption 1D = 8102]
3. 2 [Option 1D = 8103]
4. 4 [Option ID = 8104)

Correct Answer -
s 7 [Dption I = 3101]
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[Question ID = 2027][Question Description = Q49_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option |D = 8108)

Correct Answer :-
w7 [Option (D = 8105]
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[Question D = 2028][Question Description = 950_Malayalam_ SHAAN_3DEC_S1_Shift1]
1. 2 [Option I = 3109]
2. 2 [Option Iy = 3110]
3. 3 [Option Iy = 8111]
4, 4 [Dption 1D = 8112]

Correct Answer ;-

e I [Option I = 8109]
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@ () 8o (€ Do (&) Ho Ao D |
3 (0o (d 8o (e) §o Ao WD
@ () ©o ) Qo (e) Do QDo (BD |

[Question ID = 2029][Ouestion Description = Q51 _Malayalam_SHAAN_3DEC_51_5hift1]
1. 2 [Option |0 = 8113]
2. 7 [Option D = 8114)
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116)

Correct Answer :-
w 7 [Option (D = 8113]
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1} (a) Do (b) Qo Ao
@ (@ Qo (B Qo () Ho (Do
3 (b 9o © Do @I(Mo
4 (© 9o (d) Qo (&) Ho BD|®o

[Question D = 2030][Question Description = 952 Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8117]
2. 2 [Option I = 3118]
3. 3 [Option I = 8119]
4. 4 [Dption 1D = 8120]

Correct Answer -
e I [Option D = 8117)
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[Question ID = 2031][Question Description = 953 Malayalam_SHAAN_3DEC_S51_Shift1]
1. 2 [Option D= 8121]
2. 2 [Option Iy = 8122]
3. 3 [Option Iy = 8123]
4. 4 [Dption 1D = 8124]

Carrect Answer -
e 7 [Option [0 = 8121]
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1 (=) Qo b Qo Ao (I |

@ (@ Qo B o (©) Ho Ao (2D ]
B () 9o (© Ho (@) Do OB (BD]
@  (2) ©o () Oo (d) o Ao B |

[Question 1D = 2032][Question Description = Q54_Malayalam_SHAAN_3DEC_51_Shift1]
1. Z [Option 1D = 8125]

2. 2 [Option |D = §126]

3. 3 [Option I = 81271

4. 4 [Option I} = 8128]

Carrect Answer ;-

¢ 7 [Option D = §125]
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(BE 1O DM o  SHOHDEEITINS) 61 d, :

1) {a) ©o (b} Qo (&) Yo BIMo VD)
@ ®) o © Qo (@ Qo Ao (B |
3 (2) ©o (& Qo (e) Qo Ao (B® ]
@  © o (d) Qo (&) Do BIDo LBD |

[Questian ID = 2033][Question Description = Q55_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option I = 8129]
2. I [Dption 1D = 8120]
3. 2 [Option 1D = 8121]
4. 4 [Option |0 = 8132)

Correct Answer -
s 7 [Option 1D = 8129]
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2} (2) Qo (b) Oo QDo LBM]
3  (c)@2®o D]
{4} (a) ©o (b} ©o (d) @o Ad(Mo RO |
[Question ID = 2034][Question Description = Q56_Malayalam_SHAAN_3DEC_51_5Shift1]

1. 2 [Option D = §133]
2. 2 [Option D = §134]
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3. 3 [Option 1D = 8135]
4. 4 [Option I = 8134]

Correct Answer :-
& 2 [Option [IF s 3133]
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[Question D = 2035][Question Description = Q57_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option I = 8137]
2. 2 [Option Iy = 3138]
3. 3 [Option I = 3139]
4, 4 [Dption 1D = 8140]

Correct Answer ;-
* 7 [Option [0 = 8137)
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(3 (2) ©o () o (d) Qo Ao D |

@ B Qo © Qo @ Ho Ao D]

[Question ID = 2036][Question Description = Q58_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = §141]
2. 2 [Option I = 3142]
3. 3 [Option D = 8143]
4, 4 [Option D = 3144]

Carrect Answer 1=
& 7 [Option [0 = 8141]
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3  (b) o (&) Qo () Do Ao D]
@ (@ 2o WE |

[Question D = 2037][Question Description = 959 Malayalam_ SHAAN_3DEC_S51_Shift1]
1. 2 [Option Iy = 3143]
2. 2 [Option I = 3146]
3. 2 [Dption 1D = 8147]
4, 4 [Dption 10 = 8143]

Correct Answer -
e 7 [Option I = 3145]

@IOY QHIOMUW I &l a1d@RIIMBE M Hais)an oY

(a) (MU Mo@o
(®) &G0

© @denso
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©  ORMRW

WEWOIW U HOOOETNS)HE)E :

1) () ©o () Qo Ao (BB

@ (2) Qo ®) Qo (©) Qo Ao WD |
3 (b &o (&) o (d) Ho Do WD
@ (© Qo (d) Qo (&) Do @I Mo (AR ]

[Question D = 2038][Question Description = 060 Malayalam_ SHAAN_3DEC_S51_Shift1]
1. 2 [Option I = 3149]
2. 2 [Option Iy = 8150]
3. 2 [Dption 1D = 8151]
4, 4 [Dption 1D = 8152]

Carrect Answer ;-
e I [Option D = 8149]

mlelsemosnilees almysoud
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3 (© 80 () Qo (&) o A|Do (BT
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[Question ID = 2039][Question Description = Q61 _Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option |D = 8156]
Correct Answer :-
& 7 [Dption 1D = 3153]
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1) () @20 6o |

@ B Qo ©) Qo Ao D]

(3} () 8o (© o (e) o Ao BA]
@ (b Qo Qo (e o B0 BD

[Question ID = 2040][Question Description = Q62_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [DOption 1D = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

Correct Answer :-
s 2 [Option [IF s 3157]
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[Question ID = 2041][Question Description = Q63_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [DOption 1D = 8181]
2. 2 [Option D = 8162)
3. 3 [Option ID = 8163]
4. 4 [Option |D = 8164]

Correct Answer :-

s 7 [Dption D = 2161]
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@ IWIW HOMODo HOOETMS)HE) b |

D (a) o b) Ho (&) Ho Ao (BD]
2) )60 () 9o (&) Ho Ao D |
(3 (@ Qo © 9o (@ Do BIDo (VR ]
4 (2) §o (@ Do (&) Ho Ao 1BD |

[Question ID = 2042][Question Description = Q64_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 81685]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option 1D = 8168)

Correct Answer :-

s 2 [Option D = 3165]
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(a)
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(d)
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Correct Answaer ;-
s} [Option 1D = 8169]
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sl &hlele Galdeed
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(A)-(V). (B)-(I). (C)-(I). (D)-(III)
(&)-(V), (B)-(1), (C)-(IV), (D)-(I1T)
{A)-aD). (BH-(D). (C-(IV), {D)-(11}
{A}-(V), (B-IV), (G-I, (D)-(II)
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MIeMI&h2R0o Alladwmno

Mo &I 1o o

(0@ 1O B0 HMDOETS)HE D> :

(A)-IID). (BY-(V). (CH(ID), (DD
(A)-aID). (B)-(V). (O)-0V), (D)~
(&)-(IV), (B)-(V). (O)-T). (D)-(1D)
(4)-(V). (B)-(B. (C-IV). (D)-(ID)

[Question ID = 2043][Question Description = Q65_Malayalam_SHAAN_3DEC_51_5Shift1]
. 2 [Option 10 = 8169]
2 [Option (0 = 8170]
3 [Option (D = 8171]
4 [Option D = 8172)
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[Question ID = 2044][Question Description = Q66_Malayalam_SHAAN_3DEC_51_5Shift1]
1. I [Option D = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8174)

Correct Answer :-
« 7 [Option [0 = 8173]
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[Question ID = 2045][Question Description = Q67_Malayalam_SHAAN_3DEC_51_Shift1]
1. 2 [Option |D = 8177]
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P et Pl et

69)

(&)

(B)

(<)

D)

(1)

(2}

(3}

(4)

2. 7 [Option ID = 8178)
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

Carrect Answer -
* 7 [Option [0 = 8177]

Carrect Answer ;-
e ? [Option ID = 8181]
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(&)-(II). (B)-(IV), (C)-{TID). (D)-(V)

(4)-(I1). (B)-{IV). (C)-(II). (D)-(I}

(A)-(I0). (B)-(IH). (C)-(I). (D)-(V)

(A)-(IV). (B)-(I}. (C)-(ID), (D)-(V})
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(1) (A)-(I1). (B)-(1V), (C)-(V), (D}-(I)

{2}y (AIV). (BR-(V). (C-(D). (DH-(ITT)

(3) {A)-(V}, (B)-(I1T}, (C)-(IV). (D)-(I)

(4} {A)-(V). (B)-(IV). {C)-(T). (D)-(II)

[Question D = 2046][Question Description = 068 Malayalam_ SHAAN_3DEC_S51_Shift1]
2 [Option 1D = 3181]
2 [Option 1D = 3182]
3 [Option (D = 8183]
4 [Option 10 = 8184]
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[Question ID = 2047][Question Description = 069_Malayalam_SHAAN_3DEC_S51_Shift1]

1. 2 [Option [0 = 8185]
2. 2 [Option [0 = 3186]
3. 3 [Option ID = B187]
4, 4 [Option |0 = §188]

Correct Answer ;-
s 7 [Option D = B185)
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2. 2 [Option |D
3. 3 [Option D
4. 4 [Option D
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B IURHD :

{(A)-IID. (B)-{I). (C)-D. (D)-(V)
(A-IID. (B)-@). (C)-IV). (D)-(V)
(A)-(IV). (B)-(I). (C)-(ID). (D)D)
{(A)-(D). (B}-II). (C)-(I). (D)-(V)

1. 2 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option 1D = 8195]
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Question ID = 2048][Question Description = Q70_Malayalam_SHAAN_3DEC_51_5hift1]
= B189]
= 8150]
= 8191]
= 8192]

Correct Answer -
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« 7 [Option (D = 8189]
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ad§lds 1

A)  enpRL.ald oo
®B) HOHM
€ @osmn
D &DeMDallie
G
2y ARdD, (B}-(I), (C)-(V). (D)-(I1I)
3 (A-IID. B)-(V). (©)-aV). (D)D)
(4) ARV, (B)-(IL), (C)-(I10}. (D)-(T}

[Question ID = 2049][Question Description = Q71 _Malayalam_SHAAN_3DEC_51_5Shift1]
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4. 4 [Option 1D = 8196)

Correct Answer :-
s 2 [Option (I} = 3193]

1y (A-AV). B)-IID. (C)-D). (DHID)
@ (AL, B)-(01I). (C)-(IV). (D)-(D
3y (A-{ID. (B}-IV). (C)-(IL}. (D)-(T)
@ (A-aV). (B)ID). (C)-(V). (D)D)

. 2 [Option 10 = 8197]
2 [Option (D = 8193]
3 [Option ID = 8199)
4 [Option 1D = 8200]

fra Aad Bt e

Correct Answer -
s} [Option ID = 8197]
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G

L &-IV), (B)-(L), (C)-I1), D)-(V)
2y QD (B}, (C-(ID). (D)-(V)
(8)  (A-IID. (B)-{V), (O)-(I1). (D))
@ (A-AV). (BHIID. (O)-dD). (D)D)

2 [Option ID = 8201]
2 [Option ID = §202]
3 [Option ID = §203]
4 [Option 1D = 8204]

o

Carrect Answer -
& 2 [Option 10 = 8201]
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[Questian ID = 2050][Question Description = Q72_Malayalam_SHAAN_3DEC_51_5Shift1]
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[Question ID = 2051][Question Description = Q73_Malayalam_SHAAN_3DEC_S1_Shift1]
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[Question ID = 2052][Question Description = Q74_Malayalam_SHAAN_3DEC_51_Shift1]
1. Z [Option D = 8205]

2. 2 [Option |D = 8206]

3. 3 [Option ID = §207]

4. 4 [Option I} = 8208]

Correct Answer -

* I [Option (D = 8203]

eniloénifa i@ lenilosni@anio. &0 § SHI0EMENIMo., w:mnm&m%ua:&mnmno
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[Question ID = 2053][Question Description = Q75_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8209]
2. 2 [Option D = 8210)
3. 3 [Option Iy = 3211]
4, 4 [Option I = 8212]

Correct Answer -

s 7 [Option D = 8209)
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[Question D = 2054][Question Description = Q76_Malayalam_ SHAAN_3DEC_S51_Shift1]
1. 2 [Option Iy = 8213]
2. 2 [Option Iy = 3214]
3. 3 [Option 1D = 8215]
4, 4 [Dption 1D = 8216]

Correct Answer ;-
e ? [Option ID = 8213]
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[Questian ID = 2055][Question Description = Q77_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [DOption 1D = 8217]
2. I [Dption 1D = 8213]
3. 2 [Dption 1D = 8219]
4. 4 [Option |D = 8220]

Correct Answer -
s 7 [Option ID = 8217]
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D) ©®IOEMIZo

W0© 10T 0o OMOAETINSIE0 ) :

{1} (4. (C). (D). B
2y A, (D). (B). (O
(3} (C).(B). D). (&)
4y (D). (&). (C). B)

[Question ID = 2056][Question Description = Q78_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option ID = 8221]
2. 1 [Dption 1D = 8222]
3. 3 [Dption 1D = 8223]
4. 4 [Option |D = 8224]

Correct Answer -
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[Question ID = 2057][Question Description = Q79_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8225]
2. I [Dption 1D = 8226]
3. 3 [Option D = 8227)
4. 4 [Option |0 = 8228]

Correct Answer :-
a2 [Option [IF s 3223]
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[Question ID = 2058][Question Description = QB0_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8229]
2. I [Dption 1D = 8220]
3. 3 [Option ID = 8231]
4. 4 [Option ID = 8232)

Correct Answer :-
s 2 [Option [IF s 3229
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[Question ID = 2059][Question Description = QB81_Malayalam_SHAAN_3DEC_S51_Shift1]
1. 2 [Option ID = 8233]
2. 2 [Option Iy = 3234]
3. 3 [Option Iy = 8233]
4. 4 [Dption 10 = 8236]

Carrect Answer -
& 7 [Option |0 = B233)

» 2 [Option ID = 8221]
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[Question ID = 2060][Question Description = Q82_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Option ID = 8237]
2. 2 [Option ID = 8238)
3. 3 [Option D = 8239)
4. 4 [Option |D = 8240]
Correct Answer :-
& 2 [Option 1D = 3237]
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[Question ID = 2061][Question Description = Q83_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8241]
2. I [Dption 1D = 8242]
3. 3 [Option D = 8243)
4. 4 [Option |D = 8244)

Correct Answer :-
s 2 [Option [IF s 3241]
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[Question ID = 2062][Question Description = Q84 _Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [DOption 1D = 8245]
2. 2 [Option |D = 8246]
3. 3 [Option D = 8247)
4. 4 [Option |D = 8248)

Correct Answer :-
= 7 [Option [IF s 32453]
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[Question ID = 2063][Question Description = Q85_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8249]
2. 2 [Dption 1D = 8250]
3. 3 [Option ID = 8251]
4. 4 [Option D = 8252)
Correct Answer :-
a2 [Option 1D = 3249]
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[Question D = 2064][Question Description = QB6_Malayalam_ SHAAN_3DEC_S1_Shift1]
1. 2 [Option I = 8253]
2. 2 [Option I = 3254]
3. 3 [Option 1D = 8255]
4, 4 [Dption 1D = 8256]

Correct Answer ;-
e ? [Option D = 8253]
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[Question ID = 2065][Question Description = QB7_Malayalam_SHAAN_3DEC_S51_Shift1]
1. 2 [Option I = 3257]
2. 2 [Option Iy = 8258]
3. 2 [Option 1D = 8259]
4, 4 [Dption 1D = 8260]

Correct Answer -
e 7 [Option |D = 8257]
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[Question D = 2066][Question Description = QB8_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8261]
2. 2 [Option I = 3262]
3. 3 [Option I = 83263]
4, 4 [Option [} = 3264]

Caorrect Answer ;-
e I [Option D = 8261]
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[Question ID = 2067][Question Description = Q89_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 2 [Dption 1D = 8285]

2. 7 [Option 1D = 8266)
3. 3 [Option 1D = 8267)
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4. 4 [Option ID = 8268)

Correct Answer :-
s 2 [Option (I} = 32653]
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Question ID = 2068][Question Description = Q90_Malayalam_SHAAN_3DEC_51_5hift1]

. 2 [Option ID = 8269)
2 [Option ID = 8270]
3 [Option ID = 8271]
4 [Option ID = 8272]

Correct Answer :-

s F [Opticn (DY = 3269
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[Question ID = 2069][Question Description = 091_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 1 [Option I = 8273]
2. I [Dption 1D = 8274]
3. 2 [Option 1D = 8275]
4. 4 [Option |D = 8276]

Correct Answer -

» 1 [Option ID = 8273]
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[Question ID = 2070][Question Description = 092_Malayalam_SHAAN_3DEC_S51_Shift1]
1 [Option 1D = 3277]
2 [Option 1D = 3278]
3 [Option 1D = 3279]
4 [Option 10 = 8280]

Correct Answer ;-
s 1 [Option |0 = 8277)
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[Question ID = 2071][Question Description = Q93_Malayalam_SHAAN_3DEC_51_Shift1]
1 [Option |0 = 8281]

2 [Option |D = 8282]

3 [Option |D = 8283]

4 [Option |0 = §284]

Correct Answer -

* 1 [Option |0 = 8281]
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[Question ID = 207 2][Question Description = 094 Malayalam_SHAAN_3DEC_S51_Shift1]
1. 1 [Option Iy = 3283]
2. 2 [Option I = 83286]
3. 2 [Option 1D = 8287)
4, 4 [Dption 1D = 8283]

Correct Answer ;-
s 1 [Option I} = 8285]
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stian 1D = 2073][Question Description = Q95_Malayalam_SHAAN_3DEC_51_5hift1]

1. 1 [Dption 1D = 8289]
2. 2 [Dption 1D = 8290]
3. 3 [Option D = 8291)
4. 4 [Option ID = 8292]

Corre

o T [Dption (D = 3289]

ct Answer :-

Topic:- Malayalam_SET1_C
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Question ID = 2074][Question Description = Q%6_Malayalam_SHAAN_3DEC_51_5hift1]
1. 1 [Option |0 = 8293]
2. 2 [Option |D = 8294]
3. 3 [Option ID = 8295]
4. 4 [Option |D = 8296)

Correct Answer -

« 1 [Option (D = 8293]
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[Question ID = 2075][Question Description = Q97_Malayalam_SHAAN_3DEC_51_5Shift1]
1. 1 [Dption 1D = 8297]
2. I [Dption 1D = 8293]
3. 3 [Option D = 8299)
4. 4 [Option 1D = 8300)

Correct Answer -

s T [Dption (D = 3297]
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[Question ID = 2076][Question Description = Q98_Malayalam_SHAAN_3DEC_S1_Shift1]

da el Pl e

1 [Option ID = 8301]
2 [Option ID = 8302]
3 [Option ID = 8303]
4 [Option 1D = 8304]

Correct Answer ;-
s 1 [Option |0 = 8301)
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[Question ID = 2077][Question Description = Q99_Malayalam_SHAAN_3DEC_51_5Shift1]
1 [Option ID = 8305]
2 [Option ID = 8306]
3 [Option ID = 8307]
. 4 [Opticn ID = 8308]

Correct Answer -
& 1 [Option |0 = 8305]
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aileniom  eaneilmlove
O2WE@  ana lmlove
(15100 anngilmlme
eI (el fanadlmimo

© QOB ADDOETIS)H6) ) !

(A) Qo (B) 9o @0 (BT |
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@ (4) Qe (C) Do Do VD
(3} (A) 9o (B) 9o (C) Qo (Mo D |
@ (A 9o (B) Do (D) o A Mo (@]

[Question ID = 2078][Question Description = G100_Malayalam_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8309]
2. 2 [Option ID = 8310]
3. 3 [Option ID = 8311]
4. 4 [Option ID = 8312)
Correct Answer :-
w 1 [Option D = 8309]

Topic:- 03rd_Set7_A

1} The following Table-I shows the Sales and Earnings of ABC Corporation in the last
glght vears from 2013-2020. and Table-Il shows the percentage of Sales 1 four
differsnt categories In the year 2020, Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sale; : ; Earnir.lg?
{in Rs. Billion) | (in Bs. Million)
2013 3 500
2014 6 800
2015 8 200
2016 i 400
2017 5 F00
2018 g 800
2019 8 700
2020 10 800

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the average (in T billions) of the sales of ABC Corporation for the period 2013-2020?
(1) 5.5 {2y 6.0
(3) 7.0 (4 8.0

= & 7 Ao wel Al e 99 2013-2020 % fom o Al A R ot o w1 Sy & a

aiferdr I1 =% 2020 Taeh! % Tiawd % =R oTe-Ae S0 | g & | S A 5 T HTRST & 1ER
77 U7 1 IR Eie

Aifersl — I : 9dar fasa vd wm

ok Tht o
(=. faferm) | (3. ffemm)
2013 3 500
2014 4] apo
20156 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 T00
2020 10 600

At — 11 : Zofia, a9 2020 # fawa
T | FoEh A o (%)

ETE= 25%
R 20%
TE HH 40%
= 15%

4 2013-2020 F1 1afy % foe v dt.dl. FiaiEm i i @ i (5. ke 9) 730

(I 5.5 2y 6.0
@ 70 4y &0

[Question ID = 2579][Question Description = GO1_GP_24NOY_51_SHAAN_Shift1]
1 [Option 1D = 10313]
2 [Option ID = 10314]
3 [Option ID = 10315]
. 4 [Option ID = 10316]

Carrect Answer -

i bed ot e
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2} The following Table-I shows the Sales and Earnings of ABC Corporation in the last
glght vears from 2013-2020. and Table-II shows the percentage of Sales 1n four
different categories In the year 202(0. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sale; : . Earnir}gls
{in Rs. Billian) | (in Bs. Million)
2013 3 500
2014 G Qa0
2015 3 200
2016 i 400
2017 b 700
2018 G 00
2019 8 700
2020 10 800

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

For which year was the percentage (%) increase in earnings from the previous year highest?
{1) 2014 2y 2015

{3) 2016 4y 2017

fr 21 v anferet well o, sl % a9 2013-2020 % Rem o adi i e oflt o = g € e
FiferEr I1 =% 2020 Tseh! % Tiawd =+ =W oTe-Aer S0 7 g & | SR A 5O T ATRST B STER
7% U7 1 I Z

Alferrl — I : 9ar 99 w5 o

i T el
(%. faferm) | (3. ffemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
qrfersht — 11 ; Swfoma, &g 2020 9 T
| Tkt i ol (%)
= 25%
A 20%
e B 40%
7= 15%

e ad & qredt ad hit g A vftwe (%) afy waifies oft?

(1} 2014 {2y 2016
(3) 2016 (4) 2017

[Question D = 2580][Question Description = QD2_GP_Z4NOY_51_SHAAN_Shift1]

1. 1 [Option 1D = 10317]
2. I [Option 1D = 10318]
3. 3 [Option 1D = 10319]
4, 4 [Option 1D = 10320]

Carrect Answer ;-
o 1 [Option ID = 10317]

3} The following Table-I shows the Sales and Earnings of ABC Corporation in the last
glght vears from 2013-2020. and Table-II shows the percentage of Sales 1n four
different categories In the year 202(0. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sale; : . Earnir}gls
{in Rs. Billian) | (in Bs. Million)
2013 3 500
2014 G Qa0
2015 3 200
2016 i 400
2017 b 700
2018 G 00
2019 8 700
2020 10 800

Table — I1 : Categorv-wise sales in the vear 2020

| Dataoaner | Paveantaoas (3 AF Ralaa |
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Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What was the ratio of earmings to sales in 20157

(1) 25:1 2 14

(3) 1295 {4 1:40
Fi= & 7 Ao welat, e 99 2013-2020 % foom o Al i R ot o =i Sy @ e

Ao 11 =9 2020 T5h1 % diawe 0 =R Ae-3er 4001 | goial 2 | aieeR A 50 T SRS b e
W YT I AR

Aifersl — I : adar o vd s

e T =
(%. faferm) | (3. ffem)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
Atershr — 11 ; S, ad 2020 # fmea
| Tkt i afewE (%)
FEAZT 25%
A 20%
e B 40%
37 15%

=9 2015 o = U Tkl % =t w0 A F= e

(1) 25:1 (% 1:4

(3) 1:25 (4 1:40

[Question ID = 2581][Question Description = GO3_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Qption 1D = 10321)]
2. 2 [Option ID = 10322]
3. 3 [Option ID = 10323]
4. 4 [Option ID = 10324]

Correct Answer :-
s [Option I s 10321]

4} The following Table-I shows the Sales and Earnings of ABC Corporation in the last
glght vears from 2013-2020. and Table-II shows the percentage of Sales 1n four
different categories In the year 202(0. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sale; : . Earnir}gls
{in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 G Qa0
2015 3 200
2016 i 400
2017 b 700
2018 G 00
2019 8 700
2020 10 800

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

Which of the following statements can be deduced from fhe data given in the Tables I and II?
(A) Sales of Smartphones in the vear 2020 exceeded total sales in the year 2013.

(B) Earnings for the year in which earnings were highest were more than the sales for the
year in which sales were lowest.

(C)  If in the vear 2020, the sales of Smartphones had been 10% less, and the sale of
Computers had been 10% higher, then the sales of Smartphones would have been less
than the sales of Computers.
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Choose the correct answer from the options given below :
(1}  (A) only (2} (A)and (B)only
(3) (&) and (C) only (4 (C)only

= & 2 Ao weLa, woheE % 9d 2013-2020 % frm o Al i R ot o w6 wmid) § |
Ao 11 =% 2020 bl % giaee = =W Ae-s1er 401 | g7idl 2 | aiees A 50 T SATES b e
T 9YF 1 I G

Alferrl — I : 94 95 w5 o

ok e e
(%. faferm) | (3. ffem)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
tershr — 11 ; S, a9 2020 # e
| Tkt i afeeE (%)
FIE 5%
A 20%
e B 40%
7 15%

Frafafigs 4 & =9 w1/v wum aferm Ik 114 faw o srfast & smaw @ Fnfia e = o 27

Ay T4 2020 ° 35 wdwh 4 R, 2013 1 3 e @ i o
(B)  waifoEs 31 T 99 5 35 o1 o forshl gt 99 o g3 el 3 afie o
(C) =R I 2020 ° wEwA 1 fEf 10 v =05 50 5 offt Foge B fefl 10 sfim wifess Sl
w9 gl =i Tkl 1 g o e Wi Tkl W gt i
< fom o fampet 0 @ @Rl s W = il
L  F=E (A (@) Faa (A) 3 (B)
(8) W (A) FR (O) @) %= (O
[Question D = 2582][Question Description = Q04 _GP_Z4NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10325]
2. 2 [Option ID = 10326]

3. 3 [Option 1D = 10327]
4. 4 [Option 1D = 10328]

Carrect Answer ;-
e 1 [Option 1D = 10325)

3} The following Table-I shows the Sales and Earnings of ABC Corporation in the last
glght vears from 2013-2020. and Table-Il shows the percentage of Sales 1 four
differsnt categories In the year 2020, Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sale; : ; Earnir.lg?
{in Rs. Billion) | (in Bs. Million)
2013 3 500
2014 6 800
2015 8 200
2016 i 400
2017 5 F00
2018 g 800
2019 8 700
2020 10 800

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the sum total (in T millions) of the earnings of ABC Corporation for the period
2013-20197

(1) 4800 (2) 4200
(3) 4000 (4) 5000

i & 7 Ao welat, wheE 99 2013-2020 % fom o A i fht ot o =i Sy @ an
FiferEr 11 = 2020 Taeh! % Tiawd =+ =R e -Ae S0 7 S & | SR A 150 T ATRST % STER
WYY I G
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SIEPVI-TH — E , AT, A0 R DA

o ek e
(%. faferm) | (3. ffem)
2013 3 500
2014 6 900
2015 8 200
20186 7 400
2017 5 700
2018 9 $00
2019 8 700
2020 10 600
aferr — 11 ; #vfima, & 2020 3 et
| Tkt il (%)
FIE 25%
EET 20%
T2 B 40%
3= 15%

a9 2013-2019 H emfg F e v . woem £ o9 w1 T T (5 A ) mat

(1) 4800 @) 4200
(5) 4000 (4) 5000

[Question ID = 2583][Question Description = GO5_GP_2Z4NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10329]
2. 2 [Option ID = 10330]
3. 3 [Option ID = 10331]
4. 4 [Option ID = 10332]

Correct Answer :-
w 1 [Option 1D = 10329]

Topic:- 03rd_Set7_B

1V Which of the following level of teaching lays stress on critical sifting of ideas at the highest

cognitive level?

{1) Memory level (2) TUnderstanding level

{3 Reflective level (4) Autonomous development level
Tl o o oo =1 F9 W w1 wI0n s T W R % Aees YR Woae
am ¢
(1) T8 H R (2) ST R
@  Tonfl e wm (4) @ TEm

[Question ID = 2584][Question Description = GO6_GP_Z4NOY_51_SHAAN_Shift1]
1 [Option 1D = 10333]
. 2 [Option ID = 10334]
. 3 [Option ID = 10335]
. 4 [Option 1D = 103386]

ket Pl s

Carrect Answer -
e 1 [Option 1D = 10333]

Which of the following are the highest tazonomic categories 1n the cognitive, affective and
psychomotor domains of learning?

(A}  Analysis

(B Evaluation

(&) Awareness

(Db  Characterization
{E) Naturalization

Choose the correct answer from the aptions given below :

(1) (&), (B)and (C) only 2y (B), (D) and (E) only
3 (B), (C) and (D) only (4} (), (D) and (E) only

frafortian # & HA S WAFATCHF, VAR SR AT ST % & d Swan aiipa At 37
&) e

(B)  HeET

(©  fig

D)  AEgem

(E) =t
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1T Y Y SR H S ME] ST T SR G

(1)  Fa=E(A), B) it () (2) s (B), (D) 31 (E)
3  F\=E ®), (O) 30T D) @ F=E (C), (D) 3 (E)

[Question ID = 2585][Question Description = QD7_GP_Z4NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10337]
2. 2 [Dption 1D = 10338)
3. 2 [Option 1D = 10339)
4, 4 [Dption 1D = 10340

Correct Answer -
s 1 [Option 1D = 10337)

3} Matoh List I with List II
ListI List II
Helping behavior of effective teaching Description
(&) Using student 1deas of contrmbutions {I) Warm and nurturing relationship with
learners
(B) Structuring (II} Teacher statements to encourage
students to elaborate on an answer
(C) Probing (IIT} Teacher comments for the purpose of
organizing what is to come
(DY Teacher affect (V) Taking a student’s response and
repeating or applying it
Choose the correct answer from the options given below :
{1) (A)-(IV), (B)-{1ID), (C)-ID, (D)-D
{2) (A)-(I), (B)-(IT), (C)-(I1I}, (D}-(IV)
{3) (A)-(13). (B)-(D, {(C)-aV), {D)-(IL)
(D (A)-(ITT), (B)-(IV), (C)-(I). (D)-(II)
-1 % wry g1 =1 e S
-1 FHIT
(&) Tagartd = ArgEt = e s (I} sAprawaia % H TG U4 HAeHiE g
(B) Tt D v = Frega = W for, 3w ® deEa
. s Yy
(©) a—Izae (1I]) Twilaa =i SHaEE F5 & 3270 ° FeAS
i o
(D) =TT T (IV) @@ % g & od g8 Seehl gt i
ST

A &8 T fasedi o o TRl S =E i
D (A-IV). B-dID, (©)-D, O)-O
{2} (A)-(D), (B)-(1D). (C)-{IIL}. (D)-(IV)
(3) (A)-(11), (B)-(D), (C)-(AV), (D)-(IIL)
{4} (A)-(E1I), (B)-(IV}, (C)-(I). (D)-ID)

[Question ID = 2586][Question Description = GOB_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10341]
2. 2 [Option ID = 10342]
3. 3 [Option ID = 10343]
4. 4 [Option ID = 10344]

carrect Answer -
w1 [Option 1D = 10341]
4}  Given below are two statements :

StatementI: In norm-referenced feating of students. test data helps us determine a

students place or rank.

Statement IT : In Critevion-referenced testing, the test data tells us about a student’s level

of proficiency.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are tiue

2 Both Statement 1 and Statement II ave false
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(3) Statement I 1s true but Statement II 1s false

{4} Statement I 15 false but Statement IT 1= true

TeqwA e

wad (1) : Tt % frem wafifa wliem o, wheam s Fenefl % s @ 400 =i Foifa w0 3 558

a1 £ |

o (IT) . Frer-gofia wiem ¥, vhem-a7iw3 o 3w $ fgoe & w5 % aaw 3

YU A s |, A 5 1y, Eepedt ® ® w8 3wt = iy

(1) =FREIARITTF a=2
@ weE IR e I8
(8)  wu I w2, wfw v 11 o 2 |

49 FFElsmas aFEAllog s

[Question ID = 2587][Question Description = QO9_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Dption 1D = 10345]

2. 2 [Dption 1D = 10344)

3. 3 [Option 1D = 10347)

4. 4 [Option 1D = 10348]

Correct Answer :-

» 1 [Option ID = 10345]

5}
Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Asgertion (A): Modern and ICT based teaching support requires some technical
knowledge on the part of the teacher and learner.

Reasons (R) : Both teachers and learners have to be provided orientation in use of the

various support tools and techmgues in an intelligent way.

In the Light of the above statements, choose the most appropriate answer from the options
given below :

()" Both (A) and (R) are true and (R) is the correct explanation of (A)

{2 Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
{3) {A) is true but (B} is falze

{2 {A) is false but (B) 1s true

i g wuw oy T € : o AfaE (Assertion A) k¥ A foifiaa B 9t 980 @@k F9 (Reason R) %

Eﬁrﬁ'.
AT (A) - MYFF AR 2., i Them gEEm F e e R e § T OW
T3 THH T F STl o 2 |

= (R) : forems #ii sifirasatAT 2T = iy wEres STl aur aFATRl & TATEERT 2§
T W Bg SATHE B HET Fi |

IWE FYF F AT A, T4 G2 0 FFED 7 9 ge T ST F 99 i

(1)  (A) R R) TH 7 & 37 (R). (A) i o8f =awzn 21
@ (A) R R) IF 7= E & (R), (A) o = 65 2
3) (AT E i (R) sEc9 2 |

(4)  (A) ¥ 2 el R) W 21

[Question ID = 2588][Question Description = G10_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10349]
2. 2 [Option ID = 10350]
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3. 3 [Option ID = 10351]
4. 4 [Option ID = 10352]

Correct Answer :-

| [Option 1D = 10349]

6} Which of the following is an example of qualitative research?

(1) Experimental research (2) Ex post facto research

{3) Descriptive survey research (4) Grounded theory reseairch

Tiefetiaa o & B |1 uTeRE WY W T ST § 7

(1) T Y (2) FEEE Y
(8  TregumewE weam wy (4)  smaTieR e e

[Question ID = 2589][Question Description = Q11_GP_Z4NOY_51_SHAAN_Shift1]

1. 1 [Option ID = 10353]
2. 2 [Option ID = 10354]
3. 3 [Option ID = 10355]
4. 4 [Option 1D = 10356]

Carrect Answer -
e 1 [Option ID = 10353]

(B}  Statistical regression
{Cy  Imteraction of pretesting and X
{Dy  Differential selection of subjects

(Ey  Experimental mortality

(1} (B). (D) and (E) only
(3t (B} (C) and (D) only

(A) OO T SFRAT R T = (X)
(By uifesdg afeme

(C)  evliger 7 satsa ot X

(Dy e = wE A

(Ey AT Rreem

A= 7w o Rerewt A ® A T W = i
() %= (B). (D) A (E)

(3  Fad (B). (C) T (D)

1. 1 [Option ID = 10357]
2. 7 [Option ID = 10358]
3. 3 [Option ID = 10359]
4. 4 [Option ID = 10360]

Correct Answer :-

s 1 [Option I = 10357]
8 Match List I with List IT
List 1
Research Steps
{A) Research problem definition

(B) Formulation of research hypothesis

{C) Design of research

{D) Data Analysis

R ALY FTTTY AT JTET A Ty T dTT

Identify from the list below the threats to internal vahdity of research.

{(A)  Imnteraction of selection and independent varable (X)

Choose the correct answer from the options given below :
(2)  (&). (B) and (C) only
(4} (C). (D) and (E) only

A= < 7 el §  wemw A R iy B s duom % R el O ww £

FaE (A), (B) 3 (C)

%7 (C). (D) 311 (E)

[Question ID = 2590][Question Description = G12_GP_24NOY_51_SHAAN_Shift1]

List T
Characteristics

() Appropriateness of techmiques and
their application

(I Development of a conceptual
framework which is in accord with
hypothesis of research

(III} Defining the variables to be related in
unambiguouns terms

(IV) Academic and social value of the
research question to be weighed

Choose the correct answer fram the options given below :
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R b i A Tt e b i L D e L i e e

2y  A-IV), B)-(1D), (C-AD, D)-0)
3 @-@, B-AD, (-1, (D)-1V)
@  A-ID. ®-D, (C-OV). (D)-(1I)

g1 1% @ g1 %1 frem it
Teht-I I
MY F T e
{(A) I T A g Iy TR TG TR ST ST
(B) g WEHETN T T (I) TF AUEOTNE B W Fwm S oma
TFFETHT % ATEY 2 |
(C) =Y = IR {IT) =07 =i gog wearEet § T |
D) T T IV) w9 WA %k HFEHEE AR TR 9T
GiEEif
e T3 e foeeet 3§ 9 wE s v i

{(h  (A-AID. (B)-IV). (O)-O). (D)D)
(2)  ARIV). (B)-dID, (C)-AI). (D)-(I)
3) A, B)-ID. (C)-(Ih, (D)-IV)
@ AID. (B)-(I. (C)-1V), (D)-(dID)

[Question ID = 2591][Question Description = G13_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Dption 1D = 10361)
2. I [Dption 1D = 10362)
3. 3 [Option ID = 10363]
4. 4 [Option ID = 10364]

Correct Answer :-
s | [Option I s 10361]

2}

(Given below are two statements :

Statement I: Scientific research 1s systematic, controlled. empirical and eritical

mnvestigation of hypothetieal propositions.

Statement Il : Population of research need not be defined in guahitative and guantitative

researches.

In the Iight of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
2 Both Statement I and Statement IT are false
(5 Statement I 1s true but Statement I is false

{4 Statement I is false but Statement IT is true
To T T gr o 2
Fu () :  Sgiee ¥y giereaens TaE w1 sqatera, Fate, seyweereg i srseriens st 2 )
FoA (II) :  TomeTs T Ao Tl § T % T ) O w A STt T 2

UL U % ATElE H, A= Hu e et A @ wE 39 0 A i

(1) R It Iq g £ |

(2) w7 a1 +9e 2 |

(3) T Iuea B, 9 ue 11 o/ 21
4y = Ivae 2, e w 0w 2|

[Question ID = 2592][Question Description = Q14_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Dpticn ID = 10365]
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2. 7 [Option ID = 10366]
3. 3 [Option ID = 10367]
4. 4 [Option ID = 10368]

Carrect Answer -

10)
Reason (R) :

Reasons (R) :

given: below ;

| F

AT (A)

w0 (R} :

1. 1 [Option ID = 10369]
2. 7 [Option ID = 10370]
3. 3 [Option ID = 10371]
4. 4 [Option ID = 10372]

Carrect Answer -
w1 [Option 1D = 10369]

11)

1. 1 [Option 1D = 10373]
2. 2 [Option 1D = 10374]
3. 3 [Option 1D = 10375]
4, 4 [Option 1D = 10374]

Correct Answer ;-

e 1 [Option ID = 10373]

12)
Reason (R) :

w 1 [Option 1D = 10365]

Asgertion (A) :

@  =em
@ A (F)

(Given below are two statements ;: One is labelled as Azsertion {A) and the other i1s labelled as

Actual settings are the direct source of data and the researcher is the key
instrument in qualitative research.

The purpose underlying qualitative researches is relatively more directed

at depiction of reality rather than arriving at context free generalizations.

In the light of the above statements, choose the most appropriate answer from the options

(1) Both (A) and (R) are true and (B) 1s the correct explanation of {(A)
{2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A}
{3 {A) is frue but (B) is false

{4) {A) is false but (R) 18 true

Hiet 2t v fam g 2 ¢ o wfierem (Assertion A) % w0 H faflra 2 @t @@U S5 FA0 (Reason R) %

areafee UiE S & wew gia 3 7R wieesdl T Ty T e SO 2 |

TN TG 9T G Tl 9% WEH % 99g dRdia®dl B ST
=7 4 i wea w0 8 Fbe w2

IULE FUA % AT |, S S T fehedt T # geE S o o = i, ;

(1) (&) 3R R) T 7& 2 3R (B, (&) F = = 2
@ (&) 3R (R) I wea 3 w0 (R), (A) 1 W& A = R |
8) (AW g, T (R) 90T B

@ (&) a2 S ) B 2

[Question ID = 2593][Question Description = G15_GP_24NOY_51_SHAAN_Shift1]

In describing elements of commmunication, a person or an event which provides verbal or
nion-verbal use to which someone can respond 1s known as,

(1) Mesasage
(3} Channel

{2} Source

{4) Communication context

Uo7 o el el U, U SHlwd STHEl Uh-HeAT gHT HINg® AT SWiNaE Hehd qeisd HOAT (98 W
el % grT iR & W 2, R S -

(2) =
(4) Tu9 Hed

[Question [D = 2594][Question Description = Q16_GP_Z4ANOY_51_SHAAN_Shift1]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
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Aszertion (A):  Agenda building 1s a collective communication process m which media,
government and the cifizenry reciprocally influence one ancther.

Reasons (R) : Agenda building presumes cognitive effects and inactive audience with less
socletal-level effects.

In the hght of the above statements, choose the most appropriate answer from the options
given below ;

(1) Both (A) and (R) are true and (B) is the correct explanation of (A}

{2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (4)
{5) (A) is true but (B) is false

{4) (&) 15 false but (R) 1s true

ﬁﬁﬁﬂ?ﬁt{%% . uE T {Assertiunﬂ}%ﬁqa%ﬁ@ﬁ%ﬁ?@ﬂw%m (Reasonﬁ}%
E':l-ﬁ:

AMHE (A): B gl T oE amies giv A-uien @ T difsr e st i weR

T @l B THIEd 0 E |
FAT (R) : FIHHE! T THTE SR STHGRA AT i wH WIS TET AT d E |

I FUF F W 1§, A 3 e el § g el 59 = =e il

(1) (A it ®) & ge3 2 3 (R, (A) Fi 9t =mem 2

@ (A) =R (R) 261 5ea & S0 (R), () F wE wamen 45 2 |

(3) (AT T wfE (R) S 2 |

(4)  (A) = & = (R) OF £

[Question ID = 2595][Question Description = G17_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option 1D = 10377]

2. 2 [Option 1D = 10378)

3. 3 [Option ID = 10379]
4. 4 [Option 1D = 10380]

Correct Answer :-
s | [Option I = 10377]

13)

(Given below are two statements :

StatementI: The art of Mass Communication iz much more simple than of face to face

communication or any type of communication.

Statement IT : Each of us uses 358 (Sight. Sound and Smell) and 2T (Touch and Taste) when

we communicate with others.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
() Both Statement I and Statement IT are incorrect
(3 Statement I is correct but Statement II is incorrect

{1 Statement I 1s incorreet but Statement IT is correct
i 7w Ru e F
w9 (I):  FEER 61 FHen gE-gE T i o= Rt wen & o 6 sden it W B
w9 (ID) : <@ 39 8l & W1 W0 &g & 290 @ yoash 38 (3, sl ot ) aur 2T (vosf o7 w=e)
1 TE T R
LT HU T AR 8, A= o e el ° O w39 % = i
() =EIACIIHTHE |
(2) R I L3 e 2 |
(3) e I 2, S T I ed 2

() = I 2, A weT Iad £
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[Question ID = 2596][Question Description = Q18_GP_Z4NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10331]
2. 2 [Option ID = 10382]
3. 3 [Option ID = 10383]
4. 4 [Dption 1D = 10384)

Correct Answer ;-
e 1 [Option ID = 10381]

Feedback reflects the reactions of the audience when :

(A) One knows the effects of communication.
(B) One knows the quality of content of the message.
() One knows the future prospect of the object of commumeation.

(D)  One knows the financial implications of the communication,

Choose the most appropriate answer from the options given below :

(1) &) B, D)only (@) (B), (D), (C) only
3} (). (©). (D) only (4) (A, B} (C) only

TR (Fiesis) #iar i wiakran = gt 2 5

{A) S WA % WUE H AN 2

(B) FT ww ¥ favmaeg i e = e 2

(C) e wm R meg o i 6 wurened W W &
(D) IS W % S e e 2

= 5 ot e S SOt S T
(1) =4 (A). (B), (D) (2) Faa (B). D). (C)
3 Fad(A). ©). D) (d) Fad (A). B). ()

[Question ID = 2597][Question Description = Q19_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option 1D = 10385]

2. 2 [Option ID = 10384]

3. 3 [Option ID = 10387]

4. 4 [Option 1D = 10388]

Carrect Answer ;-

s 1 [Option ID = 10385]

The power which comes through connectedness of one’s words matching one’s feelings, body
and facial expression in communication process is known as :

(1) Conformity {2y Congruence

(3) Collaboration (4) Control
a7 GG = oo i 0EEn O B S wegl o Sl aemen e, IR o aeaithen F wEee o
TieTdl =7, 34 Fed © -

(1)  wEEEY (2) Wl
(3)  TEaElE (4 Feem

[Question ID = 2598][Question Description = G20_GP_2Z4NOY_51_SHAAN_Shift1]
1. 1 [Option 1D = 10389)
2. 2 [Option ID = 10390]
3. 3 [Option ID = 10391]
4. 4 [Option ID = 10392]

Correct Answer :-

= [Option 1D = 10339)

16
) The owner of a mobile phone charges hiz customer 25% more than the cost price. If a
customer paid &,000/- for 2 mobile phone, then what was the cost price of the mobile?

(1)  Rs. 5600 (2) Re. 6000
(3)  Rs. 6400 (4) Rs. 7000

HISIEE HiT 1 FEHE WEH H ARE A B 26% ARE o 3 | 30 ueS 4 "EEd WA % e 8,000/
T T R, @ T AT g oA

(1} 5600/ ToU (2) 6000/ w1
3 6400/ FuT (4) TO0O - Fug
[Question ID = 2599][Question Description = G21_GP_24NOY_51_SHAAN_Shift1]

1. 1 [Option 1D = 10393]
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2. 7 [Option ID = 10394]
3. 3 [Option ID = 10395]
4. 4 [Option ID = 10396]

Carrect Answer -
w1 [Option 1D = 10393]

In the letter series

B H B, v

What is the next letter?

1 L 2y Z
3y P 4 X

B.H.R.F, .......... % %9 § 37l 3757 SH-T1 2 ¢

(1) L (2 Z
@ P 4 X

[Question ID = 2&600][Question Description = G22_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10397]
2. 2 [Option ID = 10398]
3. 3 [Option ID = 10399]
4. 4 [Option ID = 10400]

Correct Answer :-
w1 [Option 1D = 103%97]

18)  Given the relationship between variables Y and X : Y = X% if X changes by 6%, What is the
percentage change in Y?
{1y ~36% 2y ~12%
3 ~8% 4y ~6%

YAR X b S aay Y=X2 % &7 4 2] 37K X9 6% % Ufens o, o Y § Wawd (%) giEds 50
Y

O ~36% @ ~12%
@ ~8% @) ~6%

[Question ID = 2601][Question Description = G23_GP_24NOY_51_5SHAAN_Shift1]
1. 1 [Option ID = 10401]
2. 2 [Option ID = 10402]
3. 3 [Option ID = 10403]
4. 4 [Option ID = 10404]

Carrect Answer -
w1 [Option 1D = 10401)]

19} A man travels in a car from point A to point B and covers a distance of 120 km. During the
firet 40 km, the speed of his car i1z 50 knvhr and for the rest of journey the speed of his car 1s
60 km/hr. What iz the average speed of his car from point A to point B?
(1) 55 km/hr (2} 54.25 km/hr
(3 56.25 km/hy {4) 5825 km'hr

s =i fig AT g B % w9 120 Freidier 1 g0 1 ¥ 97 0 31 PR uee 40 franfie $ 3
seht = A Tl 50 Feeindter wit ger ot it 9w gl o forg 60 Tretidier wiamer, @ g A+ fig B+ <=
I TR i AfTe e T o7

(1) 55 FEM Az (2 54.25 T i
(3)  56.25 fF.dt e (4) 58.25 G4t ae

[Question ID = 2602][Question Description = G24_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option 1D = 10405)

2. 2 [Dption 1D = 10404)

3. 3 [Option ID = 10407]

4. 4 [Option 1D = 10408]

Correct Answer :-

s | [Option 1D = 10405]

% In the seres
| s o T 5
What 15 the next term?
a 12 @ 15
3 18 @ 20
1,8.6, 10, ......... % %N T TN F A
a 12 @ 15
(2} 18 4y 20

[Question D = 2603][Question Description = G25_GP_Z4NOY_51_SHAAN_Shift1]
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EaR T

21)

1 [Option 1D = 10409]
Z [Optian 1D = 10410]
3 [Optian 1D = 10411]
4 [Option 1D = 10412]

Correct Answaer ;-
s 1 [Option 1D = 10409]

Which of the following options are true regarding inference with reference to classical Indian
system of logic?

(A) It is deductive
(B i1z inductive
) It has to be formally valid

{D) Tt has to be materially true

Choose the correct answer from the options given below :
(1}  (A) (B) and (D) only 2) (A). (B) and (C) only
(3  (A) (C) and (D) only 4 (A (B), (C) and (D) only

TF I F UREE T g % ogEn oFAE & g § etafad e § O i e 27

(A) =g T 2 |

(B) 4% APTHATER & |

(C) 3 iR B9 8 99 T iR |

D) TH T T F WA BT ML |

A fov o e | O o s = Fifew

(1) = (A). (B) 3T (D) (@ FaE (A), (B) 3 (C)
(8)  FAA (A). (C) ¥ (D) (&) (A, (B), (C) =i (D)

[Question ID = 2604][Question Description = Q26_GP_Z4NOY_51_SHAAN_Shift1]

1. 1 [Option 1D = 10413]
2. 2 [Option 1D = 10414]
3. 3 [Option 1D = 10415]
4, 4 [Option 1D = 10414]

Carrect Answer 1=
o 1 [Option 1D = 10413]

@D
(3)

The collection of all the objects to whieh a term may correctly be applied 1s called :
(4)  The intension of that term

(B}  Connotation of that term

(C)  The extension of that term

(I  Denotation of that term

Choose the correct answer from the options given below :
(1} (A and (B} only (Z) (B)and({C)only
(3)  (A)and (D) only (4) (C) and (D) only

S Tl et = w o e v wg @ wd w9 yE fR ST wear 2, Fean i

(A) 39 ug = Y
B) = 92 A
(C) =9 9g = aad
(D) =" 98 B "oy

A= fu e freewl § A W 3w W 9 S

e (A) S (B) (@) FFE (B) 3 (O)
FaT (A) A7 (D) (@) FF= (C) it (D)

[Question D = 2605][Question Description = G27_GP_Z4NOY_51_SHAAN_Shift1]

1. 1 [Option 1D = 10417]
2. I [Option 1D = 10418]
3. 3 [Option 1D = 10419]
4. 4 [Option 1D = 10420]

Correct Answer -

e 1 [Option ID = 10417]
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23)

“The Daily News carried an article this morning about some local teenagers who were

arrested on charges of drug possession. Teenagers these days are nothing but a bunch of

Junkies”.

Which fallacy iz committed in the above statement?
(1) Red Herring

(2) Strawman

(B Argument against the person (ad hominem)
{4y  Hasty Generalization

"3 A | e geE v wim e e B e Fea B 5 Teiel aEe R e s S g
fFam e T o1 | SIS 6 PR AR 5E TE Ao TS F e s | ST B § HE W s £7

1 I
@ wm

@ =afea % feg 9 (V2 BiAw)

(4y i EEEE

[Question ID = 2606][Question Description = Q28_GP_24NOV_S1_SHAAN_Shift1]

1. 1 [Option 1D = 10421]
2. 2 [Option ID = 10422]
3. 3 [Option 1D = 10423]
4, 4 [Option 1D = 10424]
Carract Answer ;-

e 1 [Option 1D = 10421]

Reason {R) :

Assertion (A} :

Beasons (R) :

(Given below are two statements ; One 1s labelled as Assertion {A) and the other is labelled as

The Naiyayikas did not give separate treatment of the inductive methods,

as the western logicians have done.

According to Nyaya school umiversal proposilions are obtained from

perception itself by one of the forms of extra-ordinary perception.

In the light of the above statements, choose the correct answer from the options given below :

(D Both (A) and (R) are true and (R) is the correct explanation of (A)

{2) Beth (A) and (R) are true but (R) 1= NOT the correct explanation of (A)
{3 {A) 18 true but (B) 1s false

{4) {A) 15 false but (B) 1s true

di 3 HYd o 7§ : ok i (Assertion A) W w7 fafiea § @ gwu S ®0T (Reason R) %

"':?-qﬁ

AT (A)

=

=0 (R) :

Yol 3 APTETCS YOl B QU WAdT A6 o 3 o 7 a9 mieEt 3

&

|

=M W % SHOR WEHY aieafeET oeifee Jonadisn 0 O uE gondie 9 O

WIS =i SR ]

T U SAE® H, T4 2 T et 0 ® wE) Sat # a6 i

(1)  (A) 3R (R) 3A &3 ¢ 3R (R). (A) i 2t =aw=n 71

2 (&) IR (R) ZA1 wed & whb (R), (A) i Wl =amean 6 2 |

(3) (AT (R) WA 2

@ (A 7w 2 A R) T R

[Question ID = 2607][Question Description = G29_GP_24NOY_51_SHAAN_Shift1]

1. 1 [Option ID = 10425]
2. 7 [Option ID = 10426]
3. 3 [Option ID = 10427]
4. 4 [Option ID = 10428]

Correct Answer :-

s 1 [Option 1D = 10425]

25)

(GGiven below are two statements :
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Statement I: Sesavata is the inference of what remains (sesa) by elimination of the
irrelevant.

Statement IT : Sesavata inference corresponds to the method of residues In western
inductive logic.

In the Light of the above statements, choose the most appropriate answer from the options
ziven below :

(1) Bath Statement I and Statement IT are true
() Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4 Statement I s false but Statement IT is true

e 2 o R e

o (@) :  SrvEd, AU & e @ St & saw o 2
FIA ({D);  ITe, SAE TR HTATHS Thae 3 AFEY T yeie § He S |
TEF FUA T o 0, 79 Foow FEew ¥ 9 o8 3w w99 fifa
O =wEIAROIFA TEE |
@ A [t [ wme © |
(3) w [¥E 2, o & I o B |
(4) w6 &, o a1 o & |
[Question ID = 2608][Question Description = Q30_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10429]
2. 2 [Option ID = 10430]
3. 3 [Option ID = 10431]
4, 4 [Option ID = 10432]

Correct Answer -
o 1 [Option 1D = 10429]

26
) When & computer 15 switched on, the BIOS 1s loaded from :
(1)  Hard Disk {2) RAM
(3 ROM (4) CD-ROM

T ey o T o fem o 2 @ BLos fefafos § & fred @i fn o 27
1 T e @ W

(% H 4) +Hiim

[Question ID = 2609][Question Description = Q31_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10433]
2. 2 [Option ID = 10434]
3. 3 [Option I = 10435]
4, 4 [Option ID = 10436]

Carrect Answer 1=
e 1 [Option 1D = 104373]

Identify the correct order of the following computer storage capacifies ranked from largest to

smallest capacity.

(A) 100 GBytes

(B) 10000 000 000 Bytes
(C)  1TBytes

(D) 1000 000 EBytes

Choose the correct answer from the options given below :
(1) (O, &) D), B) (2) (O), (A, B), (D)

3 A ©), D), B 4@ (4,0, B), D)
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T

i
2
3.
4

m=IsieAEn ‘ﬂ"“"“!\':."i. S SIS TR T SRR S A TRE SR D Rl AR A =EITed Tniiay |

(A) 1007w =mEe
(B) 10000 000 000 =Tz
(Cy 1duwme

(D) 1000 000 fFert @mee

= fon 1o frredt 5 & @ s F == il

1y (G A D), B (2) (O, A)®), D)

3y A0, D) B 4 (&), (C), B), D)

[Question D = 2610][Question Description = G32_GP_Z4NOY_51_SHAAN_Shift1]

. 1 [Optien ID = 10437]
. 2 [Option ID = 10438]
3 [Option ID = 10435]
. 4 [Option ID = 10440]

Carrect Answer ;-
e 1 [Option 1D = 10437]

Given below are two statements:

Statement I: Search Engines are websites that help a user to search for information on

WWW.

Statement II : For any search term, Search Engines provide the exact same results to all

the users.

In the light of the above statements, choose the corrrect answer from the options given

below:
(1 Both Statement I and Statement I are true
(23] Both Statement I and Statement II are false
(D Statement I 1z true but Statement I1 1s falze
(4) Statement I 1z falze but Statement II is true
B K i e R ek 3
A ([): W 59 S95EE & A TAS T WWW T A6 79 i § weeEar w9 2 |

Fort (ID: et w9 o % Forw, ol Som wolt wtiranedl =t Feepet e afiomm 341 2

Ui U % A 1, i He e Reeal 4 ® W Sat @ 99 i

(1) =FEIALIZE 932
@ v I AR DA @9 & |
(8) = IOe 2, wfet Fu 11 oweg 2

(@) = I A=A &, dAfF = 0w 2

[Question ID = 2611][Question Description = Q33_GP_24NOV_S1_SHAAN_Shift1]

1 [Option ID = 10441]
2 [Option ID = 10442]
3 [Option ID = 10443]
4 [Option 1D = 10444]

Correct Answer -

1 [Optian 1D = 10444]
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29)

(&)

(B)

(©)

@)

=

L

(3)

1. 1[0
1. 2[00
3. 3[0
4, 4[0

Carrec

With respect to computers, which of the following are random access storage devices?

{A) Magnetic Tape

(B) Hard Disk

() Pen Drive

D) CDROM

Choose the correct answer from the options given below :

(1) (A (B)and (C) only

(8)  (B), (C)and (D) only

e T
T g

ot i = S g

i o fomredi § @ A9 ST w0 =T i

e (A). (B) ##1T (C)

%4 (B), (C) it (D)

ption ID = 10445]
ption ID = 10446]
ption ID = 10447]
ption ID = 10448]

t Answer -

w | [Option ID = 10445]

(2)

(4)

(A), {C), and (D) only
(A). (B) and (D) only

HEAEL h UeE H e § 8 -0 {50 e i Same 17

@) Fa9 (A). (C) ¥R (D)

@ wa (A), (B) AR (D)

[Question ID = 2&12][Question Description = G34_GP_2Z4NOY_51_SHAAN_Shift1]

30) . o
Match Last I wnth List I
ListI List IT
Computer Terms Description
(&) Magnetic Tape (D) Used in digital cameras photo printers
and cell phones
{(B) Memory Card (IT} Uses laser beam technology to read or
write data
{C) Hard Iisk (II) Used for data archival purposes but
must be accessed sequentially
(Dy DVD (FV) A set of metal disks mounted on a
spindle
Choose the correct answer from the options given below :
(1) A)-(11D), (B)-(1), (C)-(IV), (D)-(11)
2) (A-IV), B-O. (O1L). (D)-AD
{(3) A)-(11), (B)-(IV), (C)-(D). (D)-(ID)
{4) (A)-(IT), (B)-(IIL), (C)-(I), (D)-(IV)
-1 % w1 - I0 o e =hifsm
LRl gH-I1
FEEL TEEaTa Teramo
fAY  dhrabes On My Pl femmr o B i o mim O
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I B £

B F Te I == = Ten T frm & fw o dilm
ST 1 WA T E |

© == (I /T SITHigad WsH o I T 3 g
T ETTF = 4 FAGER TR e
=TT, |

Dy T 719 AV Torse o T SHaT fSwn 1 =1

1 29 0 faweul U ° 98 39 o 99 i

(1)  Q-dIL, (B)-1), (C)-AV), (D)-AD

2 AQ-aV), B-0). (OHII). O)-AD

(3)  (A)-dIL, B)-(IV), (C)-(1), (D)-(II)

@ AID, B-ID. (O)-d). (D-IV)
[Questmn ID = 2&13][Question Description = Q35_GP_24NOY_51_SHAAN_Shift1]
1 [Qption 1D = 10449]
2 [Option 1D = 10450]

3 [Option ID = 10451]
[Dptinn ID = 1:}452]

.hwh-"-—h

Cnrrect Answer
s | [Option I s 10449]

31)

What will be the resultant of two noise levels of 81 dB and 90 dB generated by two

independent sources?
(1) ~96dB 2 ~91dB
(3 ~98dB (499 ~118dB

21 T Al § giva 81 Ffiwe st 90 e = waft vt = afons 7 g e

(1) ~9%dB (2) ~914B
(3 ~98dB (4 ~118dB

[Questian ID = 2614][Question Description = Q36_GP_Z4NOY_51_SHAAN_Shift1]
1 [Qption 1D = 10453]
2 [Qption 1D = 10454]
3 [Option 1D = 10455]
4 [Option 1D = 10456]

.b.h.l-h-'l-—h

Correct Answaer ;-
s 1 [Option 1D = 10453]

32)

Match List I with List I1
List T List IT
{A) Kyoto Protocol {I} Clean and Affordable Energy
{(B) DMontreal Protocol {(I) Clean Development Mechaniam
{C) Paris Agreement {III} Nationally Determined Coniribution
(D) International Solar Alhance (IV) Phase out of chlorinated compounds

Choose the correct answer from the options given below :

1 A-aD, B-(IV), (C-IID, M)-T)
@  @A-O, ®-1D, (0)-0v), ©@)-0D
3 A-aD, B-IV), (O-O. M-(ID
4 @A), B-(IV), (O)-D, (D)-AL)

THI-1 F o -1 e i
et TLII
(&) e TR O = 3 ge s
B) W W an w3 frma 91
(© fw T A i =g ¥ fafafrea aimem
(D) FaEE AR WA (IV) wAr e A0S s =g JEid

T T T et § © T SR = e
(1) (A)-(ID). (B)-(IV), {C)-{I1I), (DI}
(2) (A)-(D), B)-(IIL), (C)-IV), (I)-1L)
(3) (A)-(ID, (B)-(IV), (C)-(I). (D)-(IIT}
{(4) (A)-(ILD). (B)-(IV), (C)-(I), (D)-(IL)

[Question ID = 2615][Question Description = G37_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10457]
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33)

(1

{2)

(3

{4)

34)

(A)
(B)

2. I [Option 1D = 10458]
3. 3 [Optien ID = 10459]
4. 4 [Option 1D = 10460]

Carrect Answer -
w1 [Option 1D = 10457)

Given below are two statements:

Statement 1;

House Effect.

Statement IT: Black absorber plat radiates infrared radiations.

In the light of the above statements. choose the corrrect answer from the options given

below:

(1)

(2)

(3}

€

e () :

Both Statement I and Statement I1 are true

Both Statement I and Statement Il are false

Statement I 1s true but Statement II 1s false

Statement I 1s false but Statement IT 1z true

= < = Toe e #

R Hoae wie S9eE HHEsd I 6 WHgid WE e 9

F2H (D) woieh TSt wie © RE Tofsm feperan 2|

I T F S ¥, A1 B T Beew 0 O o I W 9 i

Fod [ AR [IgAT aed & |

Fem 1 w7 11 2F Tom 2 )

Fer 1 o7 2, Wi e 1] 3700 2 |

we T o7aeg B, 9 em [T aes 2

[Question ID = 2&16][Question Description = G3B_GP_2Z4NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10461]
2. 2 [Option ID = 10462]
3. 3 [Option ID = 10463]
4. 4 [Option ID = 10464]

Correct Answer :-
s | [Option I s 10461]

Identify the correct sequence in decreasing order of percentage of total world’s water in the
following locations ;

(A)
(B
(©)
)
(E)

Atmosphere

Rivers and streams
Ground water
Lakes (Fresh water)

Ice caps and Glaciers

Choose the correct answer from the options given below :

(1)
(3)

(E), (C). (B), (D), (&) @ (E), (B, (C), @), &)
(E), (D). (C), (B), (A @ (E),(©), D). &), B

Tervar o et et whoorg =7 Pl ST gl 4 s s ° saeiera Hifg

ElRUES

Solar flat plat collectors essentially work on the principle of Green
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© o
@) e (arn ur)

(By o sk fimmg
= fam o ompedi § o TE 9T w1 99T e
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[Question ID = 2617][Question Description = G39_GP_Z4NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10445]
2. 2 [Option ID = 10466]
3. 2 [Option 1D = 10467)
4. 4 [Dption 1D = 10468)

Correct Answer ;-
s 1 [Option ID = 10465]

By the vear 2030. Sustainable Development Goal 7 aimns at enhancing the global rate of
Improvement in energy efficiency by a factor of

(1) Two {2) Three
(%) Four {) Five

o9 2030 @b, DU T We.T 1 Serd FeaEa 1 Afeas U fead o i gfy w27

BH @
(3 =R 4 u=

[Question ID = 2618][Question Description = G40_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Dption 1D = 10469)
2. 2 [Option ID = 10470]
3. 3 [Option ID = 10471]
4. 4 [Option ID = 10472]

Correct Answer :-
s ] [Option I = 10469]

36
) According to NEP-20 the primary activities of the NRF will be to

{(A) Fund competitive peer reviewed grant proposals of all types across all disciplines.
(B Open new institutions of research and innovation.

{C) Act as a liason between researchers and relevant branches of government as well as

industry.

{In Include research in curriculuim at school level.

Choose the most appropriate answer from the options given below :
1y (&) and (B) only (2} (&) and (C) only
(3) (B and(C) only 4 (C) and (D) only

wdim forar {620 % s9ER AR wE. i mafE tatfe e -

(&)  viErh gaffl g g Sep-wife % weadl B S w g % Bt o gug w6, R
HETET WG A |

(B) = AN FEER Y AEAE T

(C) TRl AR EE HRE THPT ST SEE o S RS % 9 o T |

(D)  THS TR TSAHT A W WA FA |

Hrer T3 Ty Terreal 9 ® T SWE SO = A,

() Fa (A) 3 (B) @) I (&) AR (C)

(8  waa (B) 3T (O) @) Fas (O) S (D)
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[Question D = 2619][Question Description = Q41_GP_Z4ANOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10473]
2. 2 [Option ID = 10474]
3. 3 [Option ID = 10475]
4. 4 [Dption 1D = 10476]

Correct Answer -
e 1 [Option 1D = 10473]

) Tdentify from the following those values which are called “Sattvika Values”

(A) Compassion
(B) dJealousy
(C)  TRespect
(D}  Falschood
Choose the most appropriate answer from the options given below :
(1)  (A)and (B)only 2) (B) and (C) only
(3}  (Cyand (D) only (4 (A) and (C) only

Pttt & & = gt 1 wem i el arfem qew, B w3

(A) =0

® v

(C) =W

(D) e

i g T et § W wad I9gEd AU 1 9E il

() 5 (A) 3% (B) (2 ¥ (B) i (C)
(3 99 (C) 3R (D) @ T3 (A) AH(O)

[Question ID = 2620][Question Description = G42_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Dption 1D = 10477)
2. 2 [Dption 1D = 10478)
3. 3 [Option ID = 10479]
4. 4 [Option 1D = 10480]

Correct Answer :-
a1 [Option I = 10477)]

38 i . :
) According to NEP-20 Secondary Education Comprises of claszes
(1) VIH-X (2) X-XI
(3 wW-X (4 IX-XI

75 frem e = srgam meafien fen °§ et w0 o 2 -

(1) VIO-X () X-X1I
(3) IX-X (H IX-XI

[Question ID = 2621][Question Description = G43_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Dption 1D = 10481)]
2. I [Dption 1D = 10482)
3. 3 [Option ID = 10483]
4. 4 [Option ID = 10484]

Correct Answer :-

s [Option 1D = 10431]

39)

Prakrit languages have similarities and differences with Sanskrit in many ways,

Prakrit languages when formalized for literary use their variation from conventional vedic

lanpuages was
(1) Pah (2) Ardhamagadhi

(3)  Apabhramsha (4) Hindi

WA AT T W % WY AT ¥ W WO S e 2 | e wren oa wifsess e % ey

g 1 Fr wier 3R e & seh e o, 77 o -
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[Question ID = 2&22][Question Description = G44_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option 1D = 10485)
2. 2 [Option ID = 10486]
3. 3 [Option ID = 10487]
4. 4 [Option ID = 10488]

Correct Answer :-

s 1 [Option 1D = 10435]

40)  As a result of Wood’s Despateh, which of the following Universities were establhiched 1n 18577
(1) Caleutta, Bombay and Madras
(2 Bombay, Madras and Delhi
(3) Delhi, Bombay and Calcutta
{4 Madras, Caleutta and Delhi
T2 % =ty & whonaersy, Fefehisa # o B A fratmem i ownen w1 1857 A 5327

(1) =, @t o 5
(2) s, 9gE i e
(8) oo, W SR ST

(4)  TEW, FeAEar AR e

[Question [D = 2623][Question Description = Q45_GP_Z4NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 1043%]
2. 2 [Option ID = 104590]
3. 3 [Option 1D = 10491)
4, 4 [Dption 1D = 10492)

Correct Answer ;-
o 1 [Option 1D = 10439)

Topic:- 03rd_Set7_C

" Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value orlented curriculum at the post graduate level
and level of professional sfudies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
pohitical leaders and social workers etc. besides playing their normal roles as citizens and
family membhers like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and dizsadvantaged
people, the importance of correct public policies for managing societies and solving several
problems. the Importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed couniries. But the problem of
mnadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our society constitufes a serious social and moral issue.

Curricular reform and reconstruction on proper hines should be the aciive conecern of
educationists and educational planners, because as pointed out in national policy document
18886, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster umiversal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticiam, violence superstition and fatahsin.

In higher education, in the context of promoting strong value orientation, which of the
fallowing statement holds true?

(1 Provide opportunities o students to acquire scientific knowledge of high standards.
() A Palicy for development of values may be prepared.
(% Offer courses related to inter disciplinary contemporary socio-economic problems.

(4) The universities should aim to enrich technelogical dimensions.
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[Question ID = 2&24][Question Description = G46_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10493
2. 2 [Option ID = 10494]
3. 3 [Option ID = 10495]
4. 4 [Option ID = 10496]

Correct Answer :-
s | [Option I = 10493]

2
y Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value orented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely fo become leaders of business and industry,
technoerats, leaders of thought, teachers and educationists, research workers, professionals.
political leaders and social workers ete. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millicns of poor and disadvantaged
people, the importance of correct public policies for managing societles and solving several
problems, the importance of proper human relations and personal life styles, stc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence.
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our society constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper hnes should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, ortented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatahsm.

The higher education system as of now emphasizes on
(D Utilitaran values {2y Human values
(3) Social and Political values (4) Spiritual values
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[Question ID = 2625][Question Description = G47_GP_24NOY_51_SHAAN_Shift1]
1. 1 [Option ID = 10497]
2. 2 [Dption 1D = 10498)
3. 2 [Option 1D = 10499)
4. 4 [Option ID = 10500]

Correct Answer -
s 1 [Option 1D = 10497)

3)

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value orented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely fo become leaders of business and industry,
technoerats, leaders of thought, teachers and educationists, research workers, professionals.
political leaders and social workers ete. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millicns of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, setc. A good
number of them, however are now getting opportunities to acquire modern scientific and
techmical knowledge of high standards particularly in some of our institutions of excellence.
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our society constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper hnes should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, ortented towards the
unity and integration of our people. Such value education should eliminate obscuranfism
religious fanaticism, violence superstition and fatahism.

Value oriented curriculum at professional studies level is important

(1)
(2)
(3)
(4)

To propagate the values Further
To have a glimpse of the issues of the poor and disadvantaged
To balance other pedagogy, related deficiencies

To train students as efficient resource agents
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[Question D = 2626][Question Description = Q48_GP_Z4ANOY_51_SHAAN_Shift1]
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1. 1 [Option ID = 10501]
2. 2 [Option ID = 10502]
3. 3 [Option ID = 10503]
4. 4 [Option ID = 10504]

Correct Answer -
e T [Option 1D = 10501]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value orented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely fo become leaders of business and industry,
technoerats, leaders of thought, teachers and educationists, research workers, professionals.
political leaders and social workers ete. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millicns of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, stc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of exeellence.
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our society constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper hnes should be the active conecern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, ortented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatahsm.

The most suitable Caption for the passage may be :
{1 Enforcing values in education

(23] Iinportance of values

(%) Value implementation

{4y Value baszis for tertiary education and society
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[Question ID = 2627][Question Description = Q49_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Opticn ID = 10505]
2. 2 [Option ID = 10506]
3. 3 [Option ID = 10507]
4, 4 [Option ID = 10508]

Carrect Answer ;-
s 1 [Option ID = 10505]

Read the passage carefully and answer the question that follow
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and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely fo become leaders of business and industry,
technoerats, leaders of thought, teachers and educationists, research workers, professionals.
political leaders and social workers ete. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millicns of poor and disadvantaged
people, the importance of correct public policies for managing societles and solving several
problems, the importance of proper human relations and personal life styles, stc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence.
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our society constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper hnes should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, ortented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatahsm.

In order to cultivate values, the higher education system should concentrate on

(1>  Plugging pedagogical deficiencies

(2)  Integrating technology

(3)  Integrating technology with pedagogy
4) Curricular reforms
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[Question ID = 2628][Question Description = G50¢_GP_Z4ANOY_51_SHAAN_Shift1]
1. 1 [Option ID = 1050%9]
2. 2 [Dption 1D = 10510
3. 2 [Option 1D = 10511]
4. 4 [Dption 1D = 10512)

Correct Answaer ;-
s 1 [Option 1D = 10509)
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